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Section 1: Algebra
1.1 4A—41
1.27
1.3 12

1.4 —ap + 9CL2 + 5&3 7A 0

1.5 2* — 1622 + 4

1.6 G, = gG,g7"

1.7 01

1.8 =1

1.9 dim(Vp) = 2n; dim(V.NVp) =n

1.10 z = agm + bpn = agm + p(1 — am) etc.
1.11 13

1.12 3

1.13 b
23

1.14 (3) = 2%

23 =1771
1.15 ¢

=21.22.23/1.23 =7 x 11 x

Section 2: Analysis

2.1e7s

2.2 T

2.3(a)0 <2 (c)d<e

2.4 ab,c

2.5 ;007

26 f=0

2.7 b,c

284<zr<6

2.9 &5 log(V2 + 1)

2.10 Minimum at (3,-1); Min. value = -8
(can accept either answer)

2.11 (+£1, 3); shortest distance = é
2.12 [y [, f(z,y) de dy = [y [ f(x,y) dy dx
213 1+w+ w4+ wd+wt+w 4w =0
2.14 b

2.15 =

Section 3: Geometry

3122 +y=2

32r=s5s=t=0

3.3 none

3.4 /5(2? + y?) — 20z + 10y = 0;/5(x% +
y?) +20x — 10y = 0

3.5¢

3.6 a

3. 722+ +2py =0

3.8 bsinfz + (a — bcosf)y = absin 6

3.9 a pair of straight lines

3.10 (—1,1)

3.11 centre = (1, —2); radius = 2

3.12 ¥

3.13 (a) strictly convex; (b) convex, but not
strictly convex;(c)not convex

314 {(z,y) |z >1l—az<y<z-—1}
3.15b



